
 

A. Choose the correct Answer;

1. What is the plural of "knife"? 

(a) knifes (b) knive 

(c)  knives (d) knife 

2. Which noun stays the same in 
singular and plural? 

(a) cat  (b) deer 

(c)  chair (d) leaf 

3. Which of the following is correct? 

(a) boyses (b) boys 

(c)  boyes (d) boies 

4. Which word changes vowels to 
form plural? 

(a) cat → cats 

(b) goose → geese 

(c)  box → boxes 

(d) toy → toys 

5. What is the plural of "potato"? 

(a) potatos (b) potatoes 

(c)  potatoes (d) potatoes 

 

B. Match the Following; 

Match the singular nouns with their correct plural forms: 

A (Singular) B (Plural) 

1. child a. knives 

2. knife b. oxen 

3. ox c. children 

4. hero d. heroes 

5. lady e. ladies 
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C. Fill in the Blanks; 

1. The plural of baby is _______________. 

2. One leaf, many _______________. 

3. One photo, two _______________. 

4. One bench, several _______________. 

D.  Rewrite the Sentences; 

Rewrite the sentences by converting the highlighted singular nouns to plural. Make 
other necessary changes. 

1. The boy is reading a book. 

2. The lady is holding a knife. 

3. The child is playing with a toy. 

4. The mouse is eating cheese. 

E. Short Answer (Subjective); 

1. What is a plural noun? Write your answer in one or two sentences. 

2. Give two examples of irregular plural nouns. 

F. Higher Order Thinking (Creative Task) 

Look around your classroom. Write down 5 singular objects and their plural forms 
in the table below: 
 

Singular Plural 

  

  

  

  

  

 


